Bollnas BK

FSB-Simultan, oktobersilver 2010-10-28

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poéng % Namn MID Klubb
1 5 152 63.33  Marie Svensson - Hakan Svensson 12089 3390 Bollnds BK
2 4 147 61.25  Leif Linder - Roger Ahlbom 11580 11528 Sorsele BK - Bergsjo BK
3 10 140 58.33  Hans Hoglund - Margit H6glund 3238 3237  Bollnéds BK
4 8 128 53.33  Birgitta Andersson - Stefan Fransén 14056 42497 Bollnas BK
5 12 127 52.92  Jan Hamberg - Malin Helin 3225 30933 Bollnéds BK
6 1 125 52.08 Heikki Seppanen - Kent Rudberg 3215 3220  Soderhamns BS
7 3 114 47.50 Pierre Winberg - Ola Persson 87444 84911 Bollnas BK
7 7 114 47.50 Daniel Eriksson - Kjell Holmgren 24659 3368  Sdderhamns BS - Bollnas BK
9 11 107 44.58  Lennart Astrém - Tobias Edvardsson 37540 26334 Bollnds BK
10 2 105 43.75  Pernilla Andreasson - Eva Netsman 24710 81530 Bollnds BK
11 6 92 38.33  Goran Eriksson - Carina Westlin 8493 12540 Bollnas BK
12 9 89 37.08  Arne Fridh - Tore Bergner 38647 39958 Sdderhamns BS
1 o E Basta kontrakt 2 4 EKD1075 Basta kontrakt 3 4 Kn5 Basta kontrakt
Nord vD1093 44 N =130 Ost v KKn 3vy OD-1100 Syd vE73 44 V =-130
Ingen ¢ 432 NS + Kn109 ov + Kn9543
#75432 & ¢ v & NT #105 & ¢ v & NT D108 & ¢ v & NT
4 K1094 4 Kn8752 N 108 6 5 6 4 Kn2 4 8643 N6 7588 49 « EK1032 N2 3867
v74 v KKn852 S 108 6 5 6 v 109653 vE8 S 675838 v42 vD6 S23867
410985 ¢ Kn6 025784 +D653 ¢E4 O7 6845 ¢+ ED10862 ¢ K O 109 4 7 6
#E98 *K V257284 #EK «D9762 V76845 #Kn942 #EK763 V 109 4 7 6
4 D63 49 4 D8764
vE6 vD742 v KKn10985
+ EKD7 + K872 *7
#DKn106 #Kn843 *5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 1 34S+1 49 130 100 0.0| 7 12 24DN+1 vA 870 100 00| 4 3 3NO-3 v8 300 9.0 1.0
2 11 INS+1 T 120 80 20| 8 6 24 N+1 vA 140 80 20| 8 6 440-3 *7 300 9.0 1.0
7 12 2vyDO-1 +A 100 6.0 40| 2 11 1a N+1 vA 110 40 60| 2 11 340-1 *7 100 50 5.0
8 6 INS-1 a4 -50 40 60| 4 3 24N= ¢ A 110 40 60|10 5 54V-1 vA 100 50 5.0
4 3 64 N-2 48 -100 20 80| 9 1 24N= vA 110 40 6.0| 7 12 54V= aJ -600 1.0 9.0
10 5 24 V+1 3 -140 0.0 100|10 5 3v V-1 aA 50 0.0 100 9 1 3NV= v3 -600 10 90
4 43 Bésta kontrakt 5 43 Bésta kontrakt 6 » EK3 Bésta kontrakt
Vast vK8 34 N =110 Nord vE752 5¢v O D-2 300 Ost vDKn3 34 S =140
Alla + E652 NS + Kn1093 ov +84
#K108762 & ¢ v & NT #EK108 & ¢ v & NT #E10543 & ¢ v & NT
4 KD64 4 Kn75 N9 6467 4 EK 410964 N 114 3 8 6 a- 4 D10752 N6 87 98
vKn10543 vE97 S96 467 vKn984 vKD103 S 114 3 8 6 v E65 v 10842 S 687938
¢+ KD 4109843 047875 ¢+ KD742 +E85 028937 ¢ K7632 ¢ Kn O756 45
*E9 #Kn3 V47875 #Kn7 «D5 V28937 #D9876 #KKn2 V65535
& E10982 4 DKn8752 4 Kn9864
v D62 v6 v K97
¢ Kn7 +6 + ED1095
«D54 296432 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 6 3&N+1 ©vA 130 100 00| 1 7 24 S+1 &K 140 90 10| 5 4 44S-1 8 -50 9.0 1.0
3 11 4v V-1 43 100 70 30|10 6 34 S= oK 140 90 10|10 6 44 S-1 vA -50 9.0 1.0
8 12 4v V-1 43 100 70 30| 9 2 24S= +K 110 60 40| 1 7 44S-2 *6 -100 40 6.0
1 7 3vV= *6 -140 30 70| 5 4 3NV-2 +J 100 40 6.0| 3 11 44 N-2 +J -100 40 6.0
5 4 3vV= 43 -140 30 70| 3 11 24 S-1 + K -100 20 80| 8 12 44DS-1 &2 -100 40 6.0
9 2 2454 vJ -400 0.0 10.0| 8 12 44 S-2 +K -200 0.0 100 9 2 3NN-3 &2 -150 0.0 10.0
7 «ED Bésta kontrakt 8 4103 Bésta kontrakt 9 & DKn5 Bésta kontrakt
Syd vDKn743 5¢v S =650 Vast v KKn10943 4v N =420 Nord v D95 4v O =-620
Alla + E83 Ingen +9 ov +94
#E107 & ¢ v & NT #E643 & ¢ v & NT #E5432 & ¢ v & NT
4 K10952 48763 N 109 117 10 4 E97 4 D8654 N 109 107 8 4 E103 4 K6 N5436 4
v K6 vE98 S 109 117 10 vD862 vE7 S 119 107 8 vE743 v K1082 S5436 4
¢ Kn654 ¢ 1097 023262 +D32 ¢Kn1085 02 43514 + Kn1073 ¢ E65 08 9 107 9
*64 #952 V23262 #Kn92 &75 V243514 «Knl0 &#KD76 V 8 9 107 9
4 Kn4 & KKn2 498742
v 1052 v5 v Kn6
¢+ KD2 + EK764 + KD82
#KDKn83 #KD108 #98
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
2 8 5vN= *T 650 80 20| 1 12 3NS= *2 400 100 0.0 1 12 INO+2 42 -150 10.0 0.0
6 5 4v S+l ¢4 650 80 20| 9 3 240-2 v5 100 80 20|10 7 2v0O+2 +¢K -170 8.0 20
10 7 4vy N+1 «8 650 80 20| 2 8 3NS-1 a7 -50 40 60| 9 3 2v0O+3 ¢2 -200 6.0 4.0
9 3 3NS+1 45 630 40 6.0|10 7 3NS-1 a7 -50 40 60| 2 8 4v 0= 49 -620 3.0 7.0
11 4 3vy N+2 46 200 20 80|11 4 3¢ S-1 v6 -50 40 60|11 4 4v 0= &8 -620 30 7.0
112 6y N-1 46 -100 0.0 100| 6 5 64S-2 aA -100 0.0 100 6 5 3NO+1 vJ -630 0.0 10.0
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10 483 Basta kontrakt 11 4 K74 Basta kontrakt 12 4 ED2 Basta kontrakt
Ost vKn4 24 O =-110 Syd v 843 2NT SD-1-100 |Vast v KKn5 24 V =-110
Alla + EKn984 Ingen + Kn92 NS + DKn10
#D1043 & ¢ v & NT #EKD7 & ¢ v & NT #9765 & ¢ v & NT
4 E10642 «D9 N57 656 « DKn9 # 108532 N67 747 4 KKn87 4643 N57 756
vKD v 10532 S57656 v EDKn v 95 S6 8857 v 103 v 8764 S57756
+ K63 ¢ 1052 0766 87 ¢ ED1053 +¢8 O6 55 86 ¢+E875 ¢K6 O7 6 6 86
*E97 #KKn65 V76¢6287 #98 #Knl0532 V 6 55 8 6 K102 #ED84 V766 86
& KKn75 ~E6 « 1095
v E9876 v K10762 v ED92
+ D7 + K764 49432
»82 *64 #Kn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
3 1 1aV-2 &3 200 100 00|10 8 3NN= &2 400 100 00|11 5 INDO-1 ¥2 100 10.0 0.0
11 5 24 V-1 v] 100 80 20|12 2 44DO-2 w2 300 80 20|12 2 INN= v8 90 8.0 20
12 2 1a V= vlJ -80 60 40| 9 4 3¢V-3 &7 150 6.0 40| 7 6 INO-1 v2 50 6.0 4.0
7 6 2¢ N-1 +Q -100 40 60| 3 1 24V= *A -110 40 60|10 8 24 V= v5 -110 40 6.0
9 4 24V-= +9 -110 1.0 90|11 5 24 V+1l #A -140 20 80| 3 1 INN-2 43 -200 20 8.0
10 8 24 V= vJ] -110 1.0 90| 7 6 4vDS-2 «Q -300 00 100 9 4 24 N-3 ¢+ K -300 0.0 10.0
13 487 Basta kontrakt 14 4103 Basta kontrakt 15 » EK3 Basta kontrakt
Nord v K73 44 N =620 Ost v EKn964 5NT O =-460 Syd v EKn762 44 V D -3 500
Alla + DKn10972 Ingen + 8763 NS 2
#92 & ¢ v & NT »K6 & ¢ v & NT #ED52 & ¢ v & NT
4954 4103 N 7 108 109 49876 4 EKD42 N266 22 .- «4DKn109854 N 6 6 9 6 9
v D85 v Kn1064 S 7 108 109 vD1032 vK S266 22 v KD543 v- S76 9509
+83 ¢ E654 06 2523 ¢+ E10 + K4 O 116 7 1111 ¢ 754 ¢ KDKn8 O6 6 47 4
#D8654 #EKn10 V62523 &E52 #Kn10987 V 116 7 1111 #Kn10864 #K7 V66474
# EKDKn62 & Kn5 4762
vE92 v 875 v 1098
+ K + DKn952 + E10963
»K73 »D43 #93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 2 3NN+3 v4 690 100 00| 4 2 464 0O0+1 ¢Q -450 70 30| 4 2 3NS= &J 600 9.0 1.0
1 10 44 S+1 &5 650 70 30| 8 7 440+1 v8 -450 70 3.0|12 3 3NN= 4Q 600 9.0 1.0
11 6 44 S+1 48 650 70 3.0 9 5 44 0+1 ¢5 -450 70 3.0| 8 7 44DO-2 <A 300 6.0 4.0
12 3 3NS+1 &5 630 40 60|11 6 44 O+1 +8 -450 70 30|11 6 340-1 vT 50 40 6.0
8 7 3NS= *4 600 20 80| 1 10 44 0+2 +¢Q -480 10 90| 1 10 4vN-1 +Q -100 20 8.0
9 5 34S+2 &4 200 0.0 10012 3 44 O+2 ¥5 -480 1.0 90| 9 5 4vDN-2 K -500 0.0 10.0
16 & EKn42 Bésta kontrakt 17 & Kn1052 Bésta kontrakt 18 4432 Bésta kontrakt
Vast v10 34 N =140 Nord vKD7543 4¢ O =-130 Ost v E9532 24 O =-110
ov + DKn7 Ingen + Kn NS + K43
#D10763 & ¢ v & NT *74 & ¢ v & NT #D3 & ¢ v & NT
«D7 41053 N8 49965 4ED96 484 N4 3455 4ED8 4Knl075 N56 756
vED643 v8 S849 9 4 vE1096 v82 S 43455 vKDKn v107 S57756
+ 86 ¢EK109432 O 4 9 4 3 8 492 ¢ ED6543 O 9 108 8 8 ¢ ED5  ¢1096 O86 586
#K852  &Kn9 V49 438 #ED8  #Knl09 vV 9 108 8 8 #8642 K975 V86 6 87
» K986 & K73 » K96
v KKn9752 vKn v 864
+5 + K1087 + Kn872
»E4 »K6532 #EKn10
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 11 3NDV-4 «3 1100 100 00| 2 10 4¢ O-1 v] 50 90 10| 1 8 3vyN= &K 140 10.0 0.0
5 3 3¢DO-1 #A 200 80 20| 9 6 3NV-1 v3 50 90 10| 5 3 1INV-2 v2 100 70 3.0
9 6 24 N= ¢ A 110 60 40| 5 3 3¢ 0= vJ] -110 6.0 4.0| 7 11 INV-2 v2 100 70 3.0
12 4 2¢ O-1 46 100 40 60| 1 8 2NV= v4 -120 30 70|12 4 1aV+l 92 -90 40 6.0
1 8 4a N-2 +K -100 20 80|12 4 2NV= a2 -120 30 7.0| 2 10 INV+1 v2 -120 20 8.0
2 10 2¢ O+1 46 -110 0.0 100| 7 11 3NV= vK -400 00 100 9 6 2v N-3 aJ -300 0.0 10.0
19 4 Kn983 Bésta kontrakt 20 & K7 Bésta kontrakt 21 4987 Bésta kontrakt
Syd v EK1082 34 S =140 Vast v Kn1084 3v S =140 Nord vKn72 3v O =-140
oV + 86 Alla + EK984 NS + Kn1086
+D8 & ¢ v & NT *94 & ¢ v & NT #984 & ¢ v & NT
« K105 D64 N8 6 8 8 8 # Kn32 « E1098 N7 9878 4 K43 62 N46 374
vKn7 v D643 S87 998 v D976 v53 S78978 v 543 v EK986 S46 374
¢ E9743 ¢ Kn102 056 445 ¢+5 ¢+ D10732 06 44505 495 ¢+ D742 087 96 8
*E92 #Kn75 V561445 #Knl10753 #E8 V64455 #EDG52 #K7 V87 96 8
s E72 D654 » EDKn105
v 95 v EK2 vD10
+ KD5 + Kn6 + EK3
#K10643 #KD62 #Kn103
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
12 5 3NS= +3 400 100 00| 6 4 3NS= &J 600 1000 0.0| 8 11 24 S+1  +9 140 10.0 0.0
2 1 29y N-1 +J -50 50 50| 2 1 3NS-1 &3 -100 60 40| 2 1 3v0O-= ¢A -140 6.0 4.0
3 10 3vS-1 ¢+ A -50 50 50| 8 11 3NS-1 &3 -100 6.0 40| 3 10 3vO= &T -140 6.0 4.0
8 11 24 N-1 +J -50 50 50|12 5 3NN-1 ¢+ 4 -100 6.0 40| 6 4 3vO= + K -140 6.0 4.0
9 7 1vyN-1 +J -50 50 50| 3 10 3NN-3 *A -300 10 9.0(12 5 INDV+1l 9 -280 20 8.0
6 4 3NS-3 +3 -150 0.0 100| 9 7 14S-3 LN -300 1.0 90| 9 7 34DS-3 v¥5 -800 0.0 10.0
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22 49743 Basta kontrakt 23 41032 Basta kontrakt 24 4 Kn53 Basta kontrakt
Ost v 84 2# S =90 Syd v 1065 6NT V =-1440 Vast v 862 2NTV =-120
ov + DKn98 Alla + D1063 Ingen + KKn8
D63 & ¢ v & NT &654 & ¢ v & NT K953 L Y
4KD1085 «E N8 6 577 «EDKNn75 486 N14111 & K10 « ED94 N5 45 4
vD7 v 1096532 S86 577 v E93 v DKn842 S14121 v 107 v DKn43 S5354
¢ E10765 ¢ 32 047563 ¢+ EK4 +8 O 129 121112 ¢ E9765 ¢ D10 0881838
&5 #Kn1082 V4756 3 33 &#KDKn92 V 129 121112 &#Kn762 #E104 V 8 8 8 8
& Kn62 4 K94 48762
v EKKn v K7 v EK95
+ K4 ¢ Kn9752 432
#EK974 #E107 D8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
3 2 3¢DV-2 &3 500 100 00| 9 8 3aV= +3 -140 100 00| 1 11 2¢ V= a3 -90 10.0
1 11 3NS= & K 400 80 20| 1 11 4v0O+1 2 -650 40 60| 3 2 INO+1 48 -120 7.0
6 12 2¢ V-3 &3 300 6.0 40| 3 2 4v0+1 2 -650 40 6.0| 4 10 2NO= 46 -120 7.0
4 10 2N S +2 &K 180 40 60| 4 10 5vV= 7 -650 40 6.0 9 8 2NO+1 vA -150 4.0
7 5 2NS-1 & K -50 10 90| 6 12 4y O+1 9 -650 40 60| 7 5 INV+3 a3 -180 2.0
9 8 3&#S-1 v7 -50 1.0 90| 7 5 5v0= SA -650 40 6.0| 6 12 3NO+1 vK -430 00 1
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